g20 TR FU—YvRANYT

~ FCIOhrw—35SRIRAFUL—I%»RBF ~

NRIFFRIFC KEISC EARBSC(A) = 8| XK (3w
1 ® 3|2 O 1 O @& 4 3 3| 8 3
NRAYZAIFC F.F.E CUP 7 O 3|0 @ o 6 101 10 2
KEISC 1 @ 2|3 @ 7 WaAAKL/4 O @ 4 0 4 (13 4
EAREBSCA) 4 O O] O 0|4 O O F.F.E CUP 9 14| O 1
TEBII—T HBISC HiAPSC FAPNBSC EARBSCB) = =S (3w
BISC F.F.E CcUP O e 7|0 e 2|3 O O 3 3|9 3
HPSC 7 O O F.F.E CUP 1 O o6 O O 9 14| O 1
MPNESC 2 O 0oO|lo0 e 1 FFECcUP | 5 O A1 6 712 2
EARIFSCB) O @€ 3|0 e o 1 ® 5 F.F.E CUP (0] 1 114 4
K TRIRTEE; >
FBATIV—T 6 - 0 FEBII—T
KEISC EAXIBSCB)
4{i1 PK 4{i1
K BRIRTEE; >
FEATIV—T 0 - 2 FEBII—T
BTFBFC BIBSC
3fi1 PK 3t
K BRRTEE; >
FBATIV—T 2 - 4 FEBII—T
NRAYZAJIFC MPNBSC
211 PK 211
K BEREE M
FBATIV—T 0 - 0 FEBII—T
EARBSC(A) HiAPSC
11z 2 PK 3 11z
{205 Py h—05T (frPh)
LB EXRBTF Y H—=DST (A) (frPh)
F 3T MPBY v H—05T (frPh)
F41[1 RIAYRI21ZPFC CRLW)
FE61(i1 Wiy N—05T (B8]
F61{iI aFEIY rI=ILDST (B1IX]
FTI ENTIRYVARSY A W) (frPh)
FE3HiI EXRBT Y H—DST (B) (P )




